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IMPORTANT INSTRUCTIONS :

1. The Answer sheet of a candidate who does not
write his Roll No., or writes an incorrect Roll No.
on the title page of the Booklet and in the space
provided on the Answer sheet will neither be
evaluated nor his result declared.

2. The paper contains 170 questions.

3. Attempt all questions as there will be no Negative
Marking.

4. The questions are of objective type. Here is an
example. Question : 8 Taj Mahal was built by
(A) Sher Shah (B) Aurangzeb
(C) Akbar (D) Shah Jahan
The correct answer of this question is Shah Jahan.
You will therefore darken the circle with ink pen
below column (D) as shown below :

A B C D

Q¢ OO0 O®e ¥
. Each question has only one correct answer. 11 you
£ give r(rllore than one answer, it will be considered
wrong and it will not be evaluated. Changing,
cutting, overwriting and erasing of an answer
will be tréated as wrong answer.
ace for rough work wherever provided may
5 ’ll;chfltsl ized by thcgcandidate. You are not to use any
portion of the Answer Sheet for rough work.

¢ mutilate this booklet in any manner. Serious
& m:fgdmuﬁIMOn may entail disqualification.
i have
leave your seat until the Answer Sheets
s &gollecw}tli at the close of the examination. ‘
9. Candidate will not leave the examination room till

ime i he has
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fﬁinﬁiﬁ over the Answer Sheet to the staff on

FUAT W YD H A TF |
AT . Tyl Hae = GETeTE R =IO W) g @i dier
BT R T YT ot @t S Sire e SR gt w1 o
for Tt 40 g ¥ 3R oft gt & e g T e e e
TS W FoR F 5l i wie w4 faen of | g gfe
@ I | T O W T_A A |
wewaqut frdw
1. it et STt g & e g e 3o gfas | i
T I 70T AT A, e Foradmm a1 et fora@m 3Taht ST
qfiecrerT it 7 At Sirer i AT ST € SwE et aRomH
wftye fear s |
. T gfEs d 170 A § |
. T I B T I THRIeA® 3% T8l & |
. T¥ SHE [HF & | T F AR T/
¥ : § AW WEH I (AT FFEET AT |
(A) IRVTE (B) 3t
(C) e (D) ImEwTE
T WY 1 TE I E AT | TR 31T I R
HreT (D) F Y 79 8 T A 4 T wrelt g9 F S

P

T8 97 B Q@ W, S e e e g
A: 5B+ C D
Q8 O O O0e

5, TR WY I Fael U6 TE WL | I A9 0 Ayw
I I, A 7€ Tor WHE TR IR IS odiwT T
T SR |
@R, w1, Tawt s o e | I w5t e

FHW! W)

6. 8T Y off STE & TE # IW & T F F ok @
s IO e % feet off W W T W F R
IqET TE FAE |

7. ferdt ot TRE ¥ s ® w0E T W | TR E ¥ T
U YR & HROT ST I St i S e

8. HTA WM H T T T BIE T« 7 Io-gieent H T
TR I T ¥ T T o S |

9, ST T T SIS BT T SR AT AW TE A T
oo o ST W FETET T € A 3K 98 S0 3.
ferepr e & AT A T S 3 |

T

Code No. : K @1} 12019/Series. A

Scanned by CamScanner




This question paper contain

QUESTION BOOKLET
s 170 questions. /A YA = H 170 Y97 § |

All questions are compulsory. / @t 597 31famd g1
One question carries half mark only. / T T % forq heret ammen a7 2 |

Maximum Marks : 85
Time : 2 Hours

1k

Hfereran 31 : 85
'HTITI:ZEI'U%

Municipal sewage having 99.90 % water still requires treatment if nuisance

to be avoided. Why ?

I.  Large amount of organic matter present in the discharged sewage will

consume Dissolved Oxygen (D.O.) from river resulting in decrease of
river D.O if not properly treats.

II.  Contains large amount of inorganic matter.

Correct statement(s) is/are :

(A) OnlyI (B) Only II (C) BothIandII (D) None of these
TR Hewet Tt 99.90 % el BT 8, %1 IT=R 5t 3t sirarwess & o 2,
ﬂﬁwaﬁa&faﬁmﬁrlaﬁ%ﬁ o R
I w& uen § S99 gge LEER ] !
- HAESE (D.0.) F @Yd & S | IRomHEEEy T % gferd stvedteH o

i Y, Ife genfem 3= = R s | =
1. so8 o< A | arafes yerd war d | e
HE HUA 8/7

(A) Had 1 (B) whae II (C) 19U (D) ™ & H1E 7&

Which of the following surface will be having maximum run-off co-efficient ?
(A) Water bound macadam roads (B) Park, lawns

Aspt in good condition
(C) Unpaved roads : (D) Asphalt pavement in g
forer % @ o w1 YaTE U SHfehaH &M ?
(A) T & gt gl TEH (B) UTeh, & .
(C) o @ 1 7T A a5H (D) S =S ETeTd 1 Wl

istrict i i lation is 200 per
f a district is 60 hectares, density of populatio;
,lf:;atz},rear aer?dc:he quantity of water averagezly S};{Jghed per day is 200 It. The
duced will be :
t of average rate of sewage produc
amo%r%aﬂia e 60 FRA B, m@wq%zooyﬁm;@&q
%mmﬁmzaomélmm aitad :
(A) 1/10 cumecs (B) 1/13 cumecs (C) 1/45 cumecs (D) 1/20 cumecs

TS e
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" -Ehe- NON-Scouring Jimiing velocity will be maximum for sewers and drains
aving lining made up of ; ' S SR Ko TN
1 Stont?“’a"e (B) Cement concrete =0
‘- 'Eﬁ-? Cagtiron -~ (D) Asbestos whedae o
STOTTeT! o fereit ot Fedforer wReftfre 31 arfiraraw g 4F SRS & s
A TR (B) dikdRew (C) TR E (D) TEREH

5. " Flrcular Sewer sections are most widely used these days as these sewers :
e Provide maximum area for a given perimeter. - |
4 I{.I growdmg maximum hydraulic mean depth when running full or half full.
UL Perform good when discharge varies too much. : |
‘Correct statements : '
(A) I, II only (B) LILII (CY "L 10 (D) II, III onl
mwwmm@ma@ﬂqﬁmmﬁm%ﬁ% e

%i &ﬂim%ﬁmﬁéﬁ%i -
. TS O ST Y O ST B Al SAferehan g e afad
BRI Wmaﬁmﬁﬁmél g b i
(A) FF@LI  (B) LILIL (O LII (D) <« @I

6.  If the magnetic bearing of the line is S 32° E and the magnetic declination is
8°16’, then the true bearing of the line will be . '
"(A) S23°44'E (B) N23°44'E (C) S40°16'E (D) None of these
afe TEH 1 grEehia feuH S 32° E a1 g feskurd 8°167 Bl 99 W1ET H
(A) S23°44'E (B) N23°44'E (C) S40°16'E (D) ¥TH QI3 &l

7. Treatment unit which works on putrefaction alone is :

(A) Sludge digestiontank.. ~  (B) Contact beds.
(C) Oxidation ponds. (D) Trickling filters
T e T HE T ATt SR MR : 30
(A) HEUHIEATH (B) HFI%h THK
(C) SATRETeRTIT T (D) &1 YR BT
8. .r:-»lMuschel curve means : | , | ‘ ‘
.i.(A) Curves at constant speed. (B) Curves at constant efficiency.
(C) Curves at constant head. (D) None of these
| "Wgnmw%: '~ (B) fRrcHdwwH
A Tt 9 dsh .
-_;,:((c))-@nsﬁﬂfqtam i (D) FTHAFETE
v c-6012098eries-AS [TOW OTUAY T
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10.

afg

13.

12 The oil and greasy material m sewage

A I‘ES:.ist.ancc-capacitance relaxation circuit is used in an electrical dischar&°

machining process. The discharge voltage is 100 V. At a spark cycle time ?f

30 ps, the average power input required is 1 kW. The capacitance (in pF) il

the circuit is :

(A) 5.0 B) 7.5 (C) 2.5 (D) None of these
forsta wefiv s  wftmiy enfar Rifret aftee ;%?w foan et

2 Sieedl 100 V R | 30 ps 3 wres = q0d § 3TEvds Jeq T faw

1 kW 2 | e & s (uE ) & -

(A) 5.0 B) 75 . (0 25 (D) T AHE T

Acoustic signals degrade most rapidly in which of the following environments ?
(A) In arainforest

(B) ‘At a depth of 100 ft. in the open ocean Eﬁ

(C) Inadesert ’

R T NI
A) Frfasizd 0 (B) GREEHL00HE
E) R+ 1 eyt it e (D) senfereed oot &

2 defaulic jump is widely used for dissipation of energy in :
- (A) Ogee spillways -

(B) Side channel spillways

_(A) apft Se@ATiE (B)_mﬁﬁqﬂwnﬁ
(C) AT I AT H (D) =i

can be removed by deploying :
(B) Detritus tanks

(A) Skimping tEKs o " (D) Sludge digestion tank
‘Grit chambers . :
%ga?ﬂﬂam;ﬂﬁﬂmﬁﬁaﬁwmmagg% :
fRRfiT 2ehl TR (B) HeTS T T
%) fire < AR (D) 3T TT=H Tehi T
d cantilever beam of uniform cross-section, the bending moment

th is M(x) = 5x% + 10x, where x is the distance
asurgdttll’:o:znt%e free end of the beam. The magnitude of shear
me ecti = 10 mm is : ' T
: -section at X . _
(in N) in the CrO%% o oo et STeel 12 T 8 ol S
LR aﬁ.lga;aqgﬁﬂl\{(x)=5ﬁ+ 10x & | &l x @O % Hh AR
(N-mm #). @wmﬁmmmmmwwﬁwmﬁ)%; -

(mmﬁ)““f'“ﬁﬁ%m') 105 (C) 110 (D) 115

AN 100 AL e e [ Code No. : C-601/201 01§;:i::_'1
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14. The may

imum Efﬁcient:y of BOD removal is obtained in :

%A) 'OXIdat otal
C) Aerateéloﬁ ditch gB) Oxidation pond
e goons - (D) Trickling filters
?SDMBTWEWS:W@ =l
(© Sy (B) aHiaefiaeon ared
? (D) &ftor 9} BTk #

15. Véntilqtion of house

() Rilte the ouf i e g
EC) clisve tthg O?gg)xlous effects of foul air.
D) All of these' o Of foul gases.

R A H TR )

1) U giver Hg 1 & forw |

s B) g g g 3 arfewe o 9
(©) T T AT 19 o e e

. (D) Awl |

16:° A standard ‘oedometer test in the
_ clzgrospemmen took 1.0 da
a 2.

laboratory indicated that a 0.02 m thick
to undergo 90% consolidation. How many days

.0 m thick identical clay sample sandwiched between sand lg)yers and
subjected to an identical stress increment take to undergo the same ?

" (A) 500days
55 H T A eI

(B) 5000 days _(C) 1000 days
e |

(D) 10000 days

g1 {6 T%0.02 m A T4 &1

W1 90% Srftawer & 1.0 R o | fee i  w 2.0 m 71 wwrew <@

) ST AT 3@ 6t TR o sfte o Heelt g St o que i Sl
"'__(:(:)'-1000&:: (D) 10000 fe

(
S O I SfsRar | g ot 2
(A) 500 (B) 50007

17. Find out the correct pair(s) :-

List-1
(Waste type)
I. Animal waste
I[I. Chemicals solid Waste -
III. Human anatomical waste
IV. Plastic waste !
Correct pair(s) is/are :-

aﬁgm@ﬂ’f):ﬁ’rwﬁmi-
* TS TEhT)
[ e STIRE

g R/E
Mm@ L
Eiﬁﬁ@”ﬁﬁiwsmem

[SRILS

" List-IT
(Dustbin colour)
Yellow
Black
Yellow
Red

| F@‘Mi |

(SR )
diet
Hel.

it
T

©) LILILIV (D) LLIV
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18. Plenum system is : | : &

19

(A) Forcing or pumping the fresh air into the room.
(B) Forcing out vitiated air from the room.
(C) Both (A) and (B)

(D) None of these

(A) e i AT & 7O H =1 gragen I i b |

(B) %% A 3 T AT gragen e i |
©) (A)TN @) i

@) FEARE

Two aluminum alloy plates each 10 mm thick and 1 m long are welded

without crowning by multi-pass tungsten inert gas butt welding. The joint

configuration is V-type with 60° angle and root gap is maintained at 5 mm.

“If electrode of 5 mm diameter with 500 mm length is used for welding, then
the number of electrodes requiredis: "L |

" a@gﬁﬁmﬁﬁm;ﬁ@aﬁﬁqﬁm_ 10 mm 791 TS 1 m 8 i fer

: mmmmﬁ@mﬂﬂﬂﬁ%ﬂ%m%ﬁ@am“ﬂr EicEa i

TR V-2eT & Rt 60° S0 71 HE SiaUe 5 mm T T T E | A
'5 mm SE H1_qAT 500 mm TS I AW Afeen § Y R 9T @

ey fargamst <6t gen e et 2

o AT S (g O 1L, . D) 13 .

Find out the correct pai_r(s_')'\_ilv.r.t 'ptjtailjl'é”water. e
~ (Parameter) . (Desirable-permissible limit)
[ Alkalinity . -200-600mg/l

Ii. Chlorides . . 250- 1000 mg/l N % I
III. IIOH . ' _ - 3.0-5.0 l’l'lg/l
IV pH 7 8 g, 500280 g,

Correct pair(s) is/are :-

vt ot 35 T ) /e B g |

(9rEd) (FTETEH-FIA i)
[ @hdl 200 - 600 mg/l
I FNEeE - 250 - 1000 mg/1
L @ , 3.0 - 5.0 mg/1
Iv. pH 6.6-8.5
T@Iu /8

W LLI @ LIV (© LLILIV @) Ly

) | v |
Code No. : C-601/2019/Serjes. A
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22.

23.

‘21. In distribution network, dead end system is

(A) Suitable for newly developing cities.
(B) No stagnation of water occurs in pipes.
(C) Requires more no. of valves.

(D) None of these

ﬁammﬁqa@:m%:

(A) 7o feerasfier T & e 3ugs |
(B) IEHl & STt %1 ig 3T Tel B R |
(C) 3fere area <t ammarvaehar &1 2 |

(D) T & I3 &

To remove the water from the pipe after closmg the supply, the valve used
in pipe network is

(A) Check valve ; (B) Blow-off valve

(C) Pressure-relief valve = (D) All of these
Wﬁmﬁw%mmaﬁzﬁ%mmmﬁmm%
(A) %mm (B) wlI-3A® e (C) Y Rt aea (D) A&t

,Fiﬁd out the correct pair(s) w.r.t. industries reduirements.
| List-I List-11 '
I. Boiler fed water ~Hardness < 1 mg/l

Il. Pulps & papers:  Water should be free from Iron,
' Manganese & Hardness '

IIl. Breweries = Hard water
IV. Steel rolling mills Less chlondes concentraﬁon

Correct pair(s) is/are:- .
mﬁﬁmmﬁwﬁa@%/ﬂ’ﬁ'ﬁwm'

L e e e FAar < 1 mg/l

I weaadm .Wﬁmﬁ?wmgﬁﬁmH@|

II. 9=t  FIXTA
V. Sadfm e e e as
wfigme/d:

(A) LILII (B) IIII v (© LILOLIV (D) LILIV

—
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24- The increasing size of various suspended particles in air w.r.t. t0 ¢heif
relative sizes is : ._
" (A) Combustion nuclei < oil smoke < fly ash < pollens’
(B) Combustion nuclei < oil smoke < pollens < fly ash
. (C) Oil smoke < pollens < combustion nuclei < fly ash
. (D) Oil smoke < combustion nuclei < pollens < fly ash g
E wmm%wﬂmﬁﬁéﬁaﬁ%%ﬂmzww%:
(A) 25 AT < AT YH < T T < T '
B) Wm<%ﬁgﬂ<-m<wﬁ“ ' -
- (C) ¥ YH < T < T T < T W -
E (D) %3€H<Wmﬁ$<wwwamﬁm ;

25. Which of the following conditions Jead to good mixing and rapid dispersion
of pollutants ? £ od wpd g
(A) High pressure system ~ (B) Low pressure system
-(C) Both (A) and (B) (D) None of these .
g ﬁaﬁﬁﬁmm%ﬂaﬁﬂﬁ?%m = ﬁﬁaﬁﬂﬁq&@xﬁrmﬁ% ?
(A) SETET SRC N NG SR bR P e, ot
© @@ (D) FHABRTE

s 26. If tois 10 minutes, tp 1S 20 minutes and tm 18 15 minutes are the optimistic, iy
. ' pessimistic and most likely time estimates of an activity respectively, the
expected time t of the activity willbe ope e g o o - i
Ay 45min. _ (B) 225min (O 1 min. (D) 35min.
R to 10 B 9, t, 20 Pe & 3 tm 15 fire. fopet SRS T TR
Ay 45fme @B 25Fe © b fime (D) 357
27. ‘The order of occurrence of different stages in Environmental clearance for
construction project is g | : .
(A) Screening, scoping, appraisal, public consultation
(B) Screening, scoping, public consultation, appraisal
(C) Scoping, screening, public consultation, appraisal
(D) Scoping, sc:%cning, appraisal, public consultation

foreh oo 31 rar < fafr i &
S o, | e g 89 g X

9 i Code No. ; C-601/2019/Series-A
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28.

29.

30.

31.

32.

‘What happens when you eat fish laced with formalin ?

(A) Can cause nausea, coughing and burning sensation in. eyes.
(B) Can cause cancer if consumed over a long period of time.
(C) Both (A) and (B)

(D) None of these

T BT A 3119 Brifer @t e @ # 9

(A) w8 frareft, @ qon sttt # o Y arpyfy e @ o 8 |

~ (B) A O vl ety ek F da v s ) e Bt oAt |

(C) (A) @1 (B) gHi
(D) SHIABETE

Given the atomic weight of Fe is 56 and that of C is 12, the weight
percentage of carbon in cementite (FesC) is

Femmwsswcmu%|f%|ﬁzrsz(Fe3Cﬁ)ana’=rwwﬁmW%
(A) 1.25 (B) 3.25 (C) 6.67 (D) 9.12

Addition of Tungsten to steel imparts : '

(A) Magnetic properties (B) Cutting hardness
(C) .Ductility . = ., :5 5 .~ (D) Corrosion hardness
HIe H oA B e Wag yeR e s - '

(A) FERATE (B) FEHFT (C) ww (D) HEwo 3R

A soil sample has a porositybf 50%. The specific gravity of solids is 3.0.
What will be the unit weight if soil is 50% saturated ?
(Assume unit weight of water as 10 kN/m3)

T T LT BT T 50% R | 3 bt e v 3.0 2 | AR g 50% Saw @
TR FHTE IR 41 BN 2

(AT AT o et o1 3978 W 10 KN/m3 R 1)

(A) 17.0kN/m® (B) 17.5kN/m3 (C) 18.0kN/m® (D) 17.25 kN/m3

A coarse grained soil has a void ratio of 0.67 and specific gravity as 2.67.
Calculate the critical gradient at which quick sand condition wil] occur :

Q’%ﬁ%wﬁtﬁwﬁﬂﬁ-ﬁaﬁmaﬂwmmlmﬁ | 39 shifers
SISTOTeT <61 o shifg R v feens Yo aiRufa foenft .

(A) 0.94 (B) 1.0 €) L1 D) 1.2

Code No. : C-601/2019/Series-A 10 -
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: 133,

35.

In Terzaghi’s theory of one dimensional consolidation, the correct
assumption(s) is/are :

(A) Co-efficient of permeability is constant during consolidation.
(B) Darcy’s law is not valid.

(C) Soil is homogeneous and dry.

(D) All of these

o o Srefarwr 5zt 3 g vl o oo /8¢

(A) ST 3 A SRR 7o fRr i @ |

(B) <Teli b1 frem T T R |

(C) W& TH a1 & ¢ |

(D) Tt S

In Proctor test, consider the following statements :

I.  Slope of wet side is more than the slope on dry side in water content-
density curve. _ - "y

L In dry side of graph, structure is flocculated and on wet side the
structure of soil particles is dispersed.

Find the correct statement : -

C) BothTandIl " (D) None of these
%mqﬁmﬂﬁﬁmﬁm-ﬁwm:, ' -

i aammamﬁwﬁqammww%mﬁgamﬁmﬁm%l
IL m%wwﬁwﬂﬁﬁ@?ﬁ%wmmﬁqmaﬁﬂﬁ@m@mil
© Temmdd . . (D) FHABRTH

In punching shear failure of the footings in soil :

L. There is no titling of the footing.

IL. There is no bulging of soil around the footing.

IIL. No failure pattern is observed.

Find the correct statement(s) :

(A) LIlonly (B) 11IL I
(C) IL, M only (D) Ionly
e # ki & ST 1 HTEIU] A ¢

ii ﬁﬁ"?mﬂﬁ?ﬁ@?ﬁl -
. AEIY
A bl b

T HU 1A I ;
(A) %ad 1,11
' (B) LI, 11

11

oA C NS
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% :36. A rectangular column of width 240 mm and of thickness 150 mm carries 5

Point load of 240 kN at an eccentricity of 10 mm from Y-Y axis. What wil]
*be the maximum stress on the section ? '
(A) 8.33N/mm? (B) 8.22N/mm? (C) 8.5 N/mm?- (D) None of these

T SR Fiem Rt e 240 150 mm & T 240 kN i
:%THY-Y HY | lOmmT:‘ﬁ-EﬂT mm%w%?@gm‘%mm ﬁg

- (A) 833 N/mm? (B) 822 N/mm2 (C) 85N/mm2 (D) sﬁﬁrﬁéqﬁf

37. A cantllever of length (/) carries a uniformly chstnbuted load of w per unit length
for a distance x from the fixed end, then the deflection at the free end will be :

@m(nwﬁﬁﬂmﬁwﬁﬁﬁﬁmwaﬁmwﬁaﬁaﬁﬁﬁx
| QWA R @ R | 7 R e g
LAY WY BB T S g gy

(C) wx4/8EI+Wl4/6EI A N(») wx“/ﬁEI

38. Which one of thc followmg statements is TRUE g
(A) The ‘GO’ gage controls the upper limit of a hole. 2
(B) The ‘NO GO’ gage controls the lower limit of a shaft. . -
(C) The ‘GO’ gage controls the lower limitof ahole.. . - P
= (D) The ‘NO GO’ gage controls the lower lnmt of a hole 5
U Peidehm ety 1
- (A) ‘GO’ ﬁa%&ﬁ%aﬁmﬁzﬂmaﬁﬁaﬁam%l e
(B) ‘NO GO’ ﬂa%ﬁwﬁﬁn;ﬁmﬁﬁaﬁam% 1 _-  i |
(© ‘GO’ foreh o o P e e P e &1 1
- (D) ‘NO GO’ﬂﬁ%&ﬁ%‘s{aﬁﬁnxﬂmﬁﬁaﬁam% 1

39, Orographlc pre01p1tatlon occurs due to air masses bemg lifted to higher
_ altitudes by . fo s gt
(A) .the density dlfferences of ¢ air masses -~
(B) :a frontal action
(C) the presence of mountain barners |
nes. _ | R |

- %w?;aggmal cycmqtqgaﬁsw . ST SR B R |
(A TR Ee H S E _ S |

(B) T 37 foram gl -

(©) e Tl s St

(D) i govRfRaa aan—q'ﬁhﬂ?m
=N, ; C-601/2019/Series-A 12
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40. Two shafts, one solid and the other hollow, are made of the same m
~ and are having same length and we1ght The hollow shaft as compare®

solid shaft is

(A) less strong (B) more strong

(C) same strength D (D) None of these ’
amﬁaﬁﬁﬁmww@)@w% @@Wﬁﬁﬁﬁ%w?ﬂﬁ
-WWWW%ia)awaﬁgamﬁ@@ww% e

95 Wmﬂ a1} aﬁﬁﬁéaﬁ

41. The shallow water near the shore where rooted plants grow 15 called :

(A) Littoral zone B) Benthic zone

 (C) Euphotic zone (D) Noneof these

2 % 9T Il S, aﬁaﬁaﬁwmﬂ@%% HEAT R ¢
() el L s @) eI S E‘%g
(C) vmfn%mha Ledas ot (B) sqﬁaa?rém;ﬁ

 42. A 6-h storm had 6 cm of rainfall and the resultlng runoff was 3 cm. If the
q)-mdex remains at the same value the run-off due to 12 cm of ramfall in 9 h

_in the catchment is :

3 -'qeé-hmﬂﬁscmaqhﬁaaw&mmﬁwacmmmgwHﬂ%o q;-mm
' mmmw@ﬁtzcmﬂ%mm%ﬁ%(m)ﬁm@m

(A) 90cm - (B) 450m (€) 7.5cm (D) 6 cm

43. - In a river the dlscharge was. 160 m3/sec the water surface slope was
- 1in 8000 and the stalgg at the station X was 10,00 m. If during the flood, the

- stage at station was 10.00 m and the water surface slope
flood discharge was approx : i 1 i 2000 o

mwﬁﬁmlsom%ecmaammm 11‘1 sooommném X |
WS 1000 m AT Hﬁm%arm%mmém IOOOmH?JTGIEHﬁEEIE

1% 2000 @, aameﬁaﬁqeﬁmﬁam
(A) 640 m¥/sec ﬂ (B) 320m3/se
(C) 256 m¥sec | (D) 160 m3/s:c
7} Code No. T C-601/2019/Serieqth
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44.

45.

46.

47.

-valley of the curve does not intersect the mas

wn tangent to the Jowest point in a

If ine
In & flow-mass curve, a demand line dr? s curve at an earlier time

period, it represents that :

~ (A) The storage is inadequate. "
(B) The reservoir is full at the beginning of the dry perlod.

(C) The reservoir is wasting later by spill.

- (D) None of these
) a5 1, ﬁwmﬁmﬂﬁﬁﬂﬁ“ﬁm%@

Tordlt yaR-gemE (A
Tagtsa Yeel ) wrat § SN a5 & TR 781 P! ¢ | I8

(A) TG 9T 2 |

(B) Y= Hafty s JoTd § e Ui § |
(C) SIS S1E H Selehal g3 S g1 & |
(D) T & HKE TE

A 90 km? catchment has the 4-h unit -hydrograph which can be
approximated as a triangle. If the peak ordinate of this unit hydrograph is

10 m3/sec, then time base is
@90m2wm$w4hms@m%ﬁﬂﬁ@ﬁaﬁvﬁn
AT T ST Heha & Wﬁ%ﬁﬁlﬁs@mtﬁwaﬂﬁwlom%eca a

THY STER 3 :
(A) 50  (®) 60h - (© s5h (D) 45h

If the reduced bearing of the lme is N 58°24' W then the whole circle

g—qﬁhm%ﬁ

bearing of the line will be .
ﬁo’aﬁ@rwmgaﬂﬁ%ﬂNSS"M'W% a’r:m@mraqyfqaﬁ@n@n
(A) S58°24'E - (B) 301°36'

(D) 58°24'

(C) S301°36'E |
An open ended barrel of 1.0 m height and 1.0 m diameter is ﬁlled w1th

saturated sand having co-efficient of permeability 103 m/s. The barrel
stands on a saturated bed of gravel. The time required for the water level in

the barrel to drop by 0.80 mis -
(A) 800 sec (B) 80 sec . (C) 8000sec (D) 1hour

@gﬁﬁiﬁmﬁﬁdmmmmmmﬁwiﬁﬁuﬁ%wm
QT e 1073 m/s 8 lmwwmﬁmﬁ@:{r% EISCIR:
T &R 0.80 m FrA A erm I o &

(B) 80 %%

(A) 800F%HE
(C) 8000+ (D) 19w
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A & B on opposite banks of a river, the 33

.

ff readings on A & B were 2.243 & rE
fted to B and the respective St2
What will be the tru€

48. Inleveling between two points
was set up near A and the st.'«,;1 i
respectively. The level was then S to B

. -reaflings atyA and B were 1.889 & 3.041 respectively.

1 difference between Aand B ?7_ - . :

mﬁleve ﬂéﬁ%ﬁwﬂﬂﬁﬁﬁmaﬁgﬁ A B%maaﬁ-mgj, A?ﬂqﬂ’lﬂw

et 7 e P T T G Tk A T B FUHART: 2,243 31 3:'311339|am
ASe HI g B U AT T AT Aaﬁt_Bmm—g@naam. ,
3.041 9T | A 71 B 3 WeA ST oiael Ik 1 g 7 -

(A) 1.20m (B) 1.10m ©) 115m

49. 6h 42m 34s in degree minutes seconds will be :
. 6h 42m 34s %1 A Y freE FHSHEM :
(A) 100° 3830" (B) 100°3730"
(C) 101°3830" (D) 100°38730" & . B

50. In building construction, double Flemish bondis .
'(A) made up of alternate header and stretcher in the same course.
(B) made up of alternate header and stretcher in the alternate course.
~_(C) double Flemish bond has not good appearance. - . :
(D) ‘Noneofthese -

(A) T T H UHIqU H TSt AN QR A TGN s
B) i e de SR R | o
(C) e wiftw st hH femmee =t 7 et |

(D) FHIBRTE
51. Match the following List-I and List-II :
- List-I List-I

1. Lockrail . Middle horizontal member of fra'meWotk. h
II.  Rebate =  Depression cut in the frame to receive the door,
II. Panel  Area between the two rails.: ' |
Correct combination of pair(s) is/are :- gy
(A) Ionly (B) ILIIonly (C) LILII . (D) Iion]
I w ER g A, ’ o I_Ionly
TL.; -1 |
P T Pfmedmte g
: ERGERRINCE IR CIE o 1
I ¥ QWiFdesy %'

T IH /3 | ,_
&) %ﬁm ®) FRILM (©) 1im B
15 | ' Codtﬁ\lo. : C.ﬁﬁ'ﬁa‘i—g?-..ﬁ“ I

Series-A
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el S WO VU TR [ VS /S e S A

52.. Match List-I and List-11: B o S R o
- ListI List-II | o 5
Is Alumina = Red colour to the brick : -
1L Tron oxide To impart plastic character to the brick.

VL Silica Strength and hardness to brick.
- Correct combination of pair(s) is/are : '
~ (A) Tonly (B) ILMonly (C) LILII (D) Ionly
-1 e g1 @ iR | %
gl gl
Lo ewmewmd
II. T 1SS 52§ wTfeeshel SH a2 | - -
11 fafer 3¢ 1w 3t wIwar - -
wgme/E: |
(A) FEA 1 (B) HE@ILII (C) LILII (D) s III
53. In cement, if the presence of ___ 1in excess makes cement unsound and if
in deficit causes early setting and less strength of the cement on setting.
(A) Silica (B) Lime ~  (C) Magnesia (D) Alumina
Hae 7 1 e # Sufedfer dide 1wk ST & ok 3R sremar |
dl 7€ Sfee AT 3R e W dfdle v amed g | w

@ R @) T © #ERE (D) R

;

54, Which of the following are Kharif crops ?
L%y Rice : { '
II. Bajra, jowar
III. Groundnut, cotton
IV. Barley, Gram
Correct one is :-

(A) I, IIonly (O b
(© IL IIL IV only ;
T 5 A a off wtie wed §2
1. =Ea ' '
II. 9N, SR

II. Hhett, Surg

IV, s, =

R A § ' |

(A) de@LIT (B) & I, I1, III

() ¥EEILIOLIV (D) e III, IV
Code No. : C-601/2019/Series-A _ | |

. (B) LI Il only
- (D) -III, IV only
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55.

. 56.

57

58.

- gaT? | ¥ 20,000 kW

The load on hydel plant varies from a minimum of 10,000 kW toO 3_
maximum of 35,000 kW. Two turbo generators of capacities 20,000 kW
each have been installed. The total installed capacity of the plant will be :

FE3e T9F W R FH & HH 10,000 kW & JAferhan 35,000 kW % TREdH
m%azﬁmmﬁ%lwaﬁwm

&HaT B8R
(A) 20,000 kW
(C) 40,000 kW |

(B) 35,000 kW
(D) 55,000 kW

A 2% of solution of sewége is incubated for 5 days at ?0°C. The depletion
of oxygen was found to be 6 ppm. BOD of the sample will be :
el & 6 ppm T

U TS T 2% T 5 et deh 20 °C T a4 |

TRft | T3 ST BOD B : -_ _ '
(A) 200ppm * (B) 300ppm  (C) 250ppm (D) 275ppm

Which of the following is the correct data structure for solid models ?

'(A) solid part - faces - edges - vertices

(B) solid part - edges - faces - vertices
(C) vertices - edges - faces - solid parts 25
(D) vertices - faces - edges - solid parts

S T (et % for e 8 4 A o ST we £ 2

(A) I 3 - T - FH - e et I‘E?E
B) R T e el o e
(C). ¥ - RFR - ST - 319 39
(D) ¥ - Bereh - FoRR - 3| 31w

The capacity-inflow ratio for a reservoir is :
(A) Increases with time '
(B) Decreases with time

(C) Remains constant

(D) May increase or decrease with time.
Tepeft STeTrer™ 1 &THaT-JAralig ST :
(A) FREFFATGAR| |
(B) M WY TeaT ] |

(© ferwmyl ,
(D) WY o U1 ¥G AT T FehaT & |

Scanned by CamScanner
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atjons is :
59. Increasing order of porosity values in different rocK for_ol s “

(A) Granite < Only gravel < only sand < clay
(B) Only gravel < Granite < only sand < clay
- (C) Only gravel < Granite < clay < only sand

(D) None of these
Riforer et sy 3 fofera w1 1 s S R

(A) T2 < FHae Vel < HaA W <FA

(B) I NI < ITEE < hael W < FA
(C) ¥ae1 I9e < IATEE < T < e @
(D) ¥ &g Tal

60 The binary diffusivity in liquids is of the order of

- gal § feanft Rmufiea H wife 7 |
(A) 10-5cm?%sec (B) 103 mm?sec(C) 10-5 ft/sec (D) 106 cm?/sec

61. Pick out the wrong statement.
(A) The concentric layer in atmosphere which contains about 70% of the

total mass of atmosphere and characterized by a steady decrease in

temperature is called stratosphere.
(B) The earth's atmosphere is an envelope of gases extending up to a height

of about 200 kms. e
(C) Stratosphere is rich in ozone and is located ]ust above the troposphere

(D) None of these
Tad A BT BN - ' |

~ (A) 9gAUSH # 98 Hehfgd T, Gﬁﬁ@ﬂ@a%wwﬁwm%t@?ﬁ%aﬁt
L TR qT9HT Y & GRT SATEAfTeh &, THaTd Huee Hewdl @ |
- (B) Mmmﬂﬁwwm%sﬁw zoo%tﬁ dh HaT8 a%

- Hengl

(C) WWMW%W%WW%mwmél
(D) FHABZTE

-62. Liquid Ammonia is not used as fertlllzer in trop1cal countries such as India

because :
(A) Its Nllrogen(NQ) content is vely low.(B) Not available

(C) Evaporate on spraying (D) Costly |
I S STehesiefie ST B g SR ST ST I o &9 8 T fr e g, avi‘r%

(A) FETTEENH (N,) AW I = 8 | (B) Iuerea Tl R |
C) AFA WAl (D) HEmW|

Code No. : C-601/2019/Series-A - .18
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- 63.

- 64.

65.

piel
(A)ﬂnwﬁhq&m%aﬁaﬁ e T |

Presence of even very mlnute amount of .

. (A) Arsenic (B) . Bismuth

A 20° full depth involute spur pinion of 4 mm module and 10 teeth is t‘;
Its face width is 15 mm. The tangential forc

transmit 10 kW at 840 rpm.
N
tqr;mz%l:twd (’llnﬂtlé) o Sfew v fafe 4 mr%n quT 10 €4 ﬁégo rpn% ﬂI
W STUT T B iwﬁwaﬂgré {5 mm & | N ™ SreRE e JNd e :
=3 (C) 1776. 10 (D) 1305.50

(A) 3790.81 (B) 5681.81
Use of Neem for coating of urea has many advantages Pick up the incorrect
statement.

s to more gradual release of urea, helping plants gam

(A) Neem coating lead
more nutrient and resultin
(B) Neem serves as a natural insec
(C) Collection of Neem seeds is neede
urea. This would generate employment
n due to leaching of urea.

o) gcreaseiau:nr}gﬂgrmound ﬁgg;%tgl Tefel U 1 <9 ‘
e & i 1 ) S e 3 o T

g in higher yields.

ticide.
d for manufacturing 0O

s in rural areas.

f neem coated

Rrep e w1 wfe B # weg fierd &,

2 | zad T 8 H TSR I
D) W%ﬁwﬁ@mwﬁ@aﬁaﬁﬁl |
''''' (say 0. 1%) in Copper

reduces its electrical conductivity very serlously _
-(C) Antlmony (D) :Both (A):and (C)

"'wﬁﬁaﬁmmmﬁ(qﬂéol%)

- (A) Sohds

“(©) qrarm .(D)_ * (M) T(C) T

(A) aﬁﬁm (B) ﬁmu

are analysed usmg a Polarograph S e gﬁ _
i e SER IR (B) qullldS ORI
4D) Isotonic solutlons '

C) Gases . . . iw |
ﬁqﬁ'ﬁ'ﬂ wﬁwﬁw Gn?n%|

@) gt B) iﬁﬁ © ﬁ‘vﬁ (D) miﬁﬁ

- 67.

._-i )

Humldlty of air can be detenmned by g
(A) Chromatograph s (B) Slmg Psychrometer

(C) Polarimeter .
T H arammaamm% el e

C(A) PERITHERT @) ﬁﬂﬁ‘v‘ﬂsﬁtﬁam

© q’laﬁmam RO (D) aa:mﬁﬂihﬂaam

19 3 Code No C-60U2019ISerles-A
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' i led physic
68'_ S;tatementl Foreign objects entering - food " tapoRliee Prytl

ntamination of food. g 73.
- Statement2 g:mtrollmg moisture is the only precaution " be Igkch
' prevent food contamination.
Pick up the correct statement :
(A) Statement 1 is true, statement 2 is false
(B) Statement 1 is true, statement 2 is true. 4
(C) Statement 1 is false, statement 2 is false. |
D None of these e
o mw%ﬁﬁamﬁ;ﬁnﬂﬁmé?ﬁ% 77 @ Y
%@W%ﬁqwﬂ e 8w s o o P G A A R 7
YA
(A) R 1 T 2, swmeR 2 e 2 |
(B) e 1 wét B, sl 2wt 2 |
(C) e 1 T %, WZW%I
(D) ¥HEHIE Tl
69. Two bin system is concerned with :
(A) Ordering procedure (B) Forecasting Sales
g‘L‘) Production planmng . (D) Dispatching and Expediting
EER ISR RS | | R
(A) 3TTeH ufsham & | (B) frra@igam &
(©) maqzﬁa'ﬂ@r R ot B '('D) S et ¥t e
70. Identify the air pollutant in urban areas which irritates eyes and also
respiratory tract of human being. -
(A) Particulate matter _ (B) Oxides of mtrogen
(C) Surface ozone . (D) Carbon monoxide
m%ﬁmmmﬁwﬁﬁqﬁ@ | U1 7S % YEEA &9 1
TGI8 eI~ LT & | §
(A) Tafeem vered % (B) AEIINH & AT
(C) gt 3N (D) e AANFEIES
71. Which of the following material takes the longest time for bio-degradation ?
1(_:“:)' Cotton Paper (C) Bone (D) Jute
- ﬁﬁaﬁqmwﬁ forere o wad 3t orafy san & 2
(A) U@ (B) W €) ==& (D) 2

' 72. The loudness of a sound that a person can withstand without discomfort is about

mﬁaﬁazaamshww% fopeft argferen < we o0 Tk B, AT AT R -
(A) 150dB (B) 215dB (C) 30dB (D) 80dB

Code No. : C-601/2019/Series-A_. . 120 |
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76.

.. At a site, 30 cum of concrete work is executed in a single day. What are the
nFlh at

_ (B) circular in shape with blue

El Nino is :

(A) A seastorm B) A

(C) A tropical disturbance ED)) An\g?l'l;g‘ ?1?1?:112 S? {;?;thoon
AT :

(A) T FIR e (B) @ T Wt e

(C) T IwThieaeiy faamny (D) qHM & A AH

%ﬁid én wc?ter can cE%u)se
) Eye disease Arthritis C) Kidney damage (D) Hair falling
mﬁgrz(xﬁm)%;mﬁmg: (

(A) T (B) omdfmgfm (C) gEwafs (D) Wl HHSA

minimum number of samples required to be tested for compressive stre

28 days, so that the concrete may satisfy the acceptance criteria as per IS 456 ?
g | HH A H

et R @ | 30 cum @ Th T
mwﬁmwmﬁwﬁm‘q@gmﬁ%mzsﬁaﬁﬁ
foran ST R, St Sshie Wl IS 456 % AMEUST | HIE L ?

(A) 4 (B) 6 (C) 18 (D) 3
The L,, concept is basically related to :

(A) Noise pollution s (B) Air pollution %g
(C) Lightpollution _ (D) All of these &
L, 1 STTUN T & G fed 2 :

(A) @YW (B) TYNFWE (O TehTe YU & (D) A&l

A two lane road with design speed 100 km/h has horizontal curve of radius
500 m. What will be the design rate of super elevation for mixed traffic ?
firsan 500 m &1 &faw =56

o 3 o Y ge, Fraeh fesea = 100 km/h 7, §
e 2 | Tt aramaTa 3 T g werae < fesmea g Bt ?

(A) 0079  (B) 0.089 (C) 0.069 . (D) 0.07

No Parking signboardis- -~ = | .

(A) rectangular in shape with blue background, a red border and an oblique
red bar at an angle of 45°. '

' backgrouhd, a red border and an oblique red

bar at an angle of 45°.
(C) circular in shape with blue background, a black border and an oblique

red bar at an angle of 45°.
(D) circular in shape with blue background, a red border and an oblique

black bar at an angle of 45°.

A i HT GHd TS B2 |
(A) AR fraehl gy et T1 i, T 1 T IS qUl Th A ol
UE S 45° HIVT T | - |

(B) TR, Hicht &1, Teh oTel STt a1 fordfeh €08 S 45° v W a |
© EI?IWT,W T T, Teh THTAT SIS AT Th ST ferdieh QU8 Sl 45° I
' _

D) qam,ﬁm@w,@ww@wwmﬁﬁmmﬁmswﬁmmﬁ\

el L ———

21 Code No. : C-601/2019/Series-A

-

Scanned by CamScanner




a bed slope of 1/800 hag itg
gm respectively. If the flow

s rigid boundary rectangular channel hgvin_
60, the discharge through the

width and depth of flow equal to 2 m and 1
uniform and the value of Chezy’s constant 18

channel is - —
TH _Pﬁmamw%mmﬁusoommmﬁ@hﬁq's’g R
e A 2 m AT 1 m ¥ T R mﬁ;’_m@‘ﬁq%waﬁhmm

60 &, T ==t & farast= g : . . )
(A) 30m%  (B) 25m¥%s  (C) 225m%s (D) 15m s

80. Consider the following statements : |
The critical value of Reynolds number at which the boundary
from laminar to turbulent depends upon | .
I.  Turbulence in ambient flow
II. Surface roughness
. Which of these statements is/are correct ? & i 1
(A) Ionly (B) Monly  (C) BothI&II (D) Neither Inorll
= et o femm iR i ST
e w1 shifees T 8 T T wa AifteR & egeie § uiafda giar 7, el
I ufesft yarg § esgoid |

L B G s
 FTHAPT A AT T /R ? | R TR Y
C(A) AL (B) HaAIl (C) _Iaennaﬁ- D) FIRARI

1ay¢r changes

o

81. In a Stokes’s experiment of falling sphere, it is found that a sphere of 5 mm
diameter falls in a liquid with terminal velocity 20 mm/s giving a drag co-
efficient of 240. The ratio of specific gravities is 2.85. Which one of the
following is the kinematic viscosity of the liquid in stokes ?

- WIEE % FRd g M & JE0T # 98 IR TR R 5 mm S 1 O e fee |
o 20 mmy/s % 3w 97 & firan &, o aeTRyr s 240 2T R | R Tt w5
I 2.85 7 | e 3 & i 11 U W 1 59 Y g ek YA R 9
(A) 5.0 (B) 10.0 (C) 10000 - (D) 225.0

82. What is the bulk modulus of elasticity of a liquid which is compressed in 2
cylinder from a volume of 0.0125 m? at 80 N/cm? pressure to a volume of
0.0124 m3 at 150 N/cm? ? | y g =«

_%aﬁaammmmgww@mﬁmﬁ@ﬁémﬁ 80 N/cm? W
HE 0.0125 m? § 150 N/em? T 3TRIEH 0.0124 m3 7 wefifsa fpam a2 9
(A) 87.5N/mm? (B) 86.5N/mm? (C) 88.5N/mm? (D) 80.5 N/mm?

‘Code No. : C-601/2019/Series-A 2 .- T
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33 A rectangular tank of length 5.0 m, width 2.0 m and height 2.5 m ig

; I.’_ ~ Flow should be rotational.

5 L 9aTE 951 g1 e |

85,

i Feorreren § el 4 G T R | 2o I @ e g R | 21 T T fw TR

‘tan 6 = ozwmﬁﬁg—mm/sz)

~ Consider the followmg statements

.completely filled with water when.at rest. The tank is open at the top. The
tank is subjected to a horizontal constant linear acceleration of 2.0 m/s? in
the direction of its length. What will be the volume of the water spilled from

the tank ?
(Assume slope of the free surface of water after the tank is sub_]ected to
s2)

constant linear acceleration as tan @ = 0.2 and take g = 10 m/ " _
% AR @, R @ 5.0 m, <reré 2.0 m A1 FE 2.5 m B, Eﬁil‘ﬁ

Y T 2.0 my/s2 IHEHT TETE 3 SR AT | &Y & e ST S T

JTIGH 91 &1 2
%ma%zﬁm@nt@amwﬁ%mwﬁgﬁmﬂm-

A) 110m® - (B) 80m’ -'--('C) 7o0m® (@) 50m’

The velomty potential function () exlsts, then '

. If @ satisfies the Laplace equatlon, it represents the poss1ble steady

compressible irrotational flow. -

Whmh of these statements is/are correct ? '
(A) Ionly ... (B) .Ilonly " (C) Both I & II (D) Nelther I norII

ot et o P iR | o B
1 T e (O) S AT R, T A E'%g

I, aﬁ@maﬂwﬁa@aﬁ?ﬁ%mwﬂw@m
alTg I SEfia L | |

ﬂ:mweﬁ%/ét R A ) |
(A) %et (B) WII . (C) Iamn-cﬁq‘t (D) ‘»t??tla?ﬂ‘-tﬁtll

A nozzle is sxtuated at a dlstance of 1 m above the ground level and is
inclined at an angle of 45° to the horizontal. The dlameter of the nozzle is
© 50 mm and the jet of water from the nozzle strikes:the ground at a honzontal

. distance of 4 m. Find the approximate rate of the flow of water.
qeqhewﬁ I m3IW AR R a Ig AR A4S F DU WG R |
 FIISTT 1 S 50 mm R T T U A ¥ e W 4 m éﬁﬁrq@m
T R | et TR bt AT QA R |

(&) 005m¥s - (B) 0011 m¥s  (C) O, 025mYs (D) 0015 m¥s

23 o Code No. : 9-60112019lser_i€;A
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86.

87.

88.

89.

90.

T8 200 mm B A T W IGh! SSTE FT1 B 2
(D) 400 mm -

Weber model law s applied in following cases :

- Capillary movement of water in soil. Il. - Flow over weirs for small heads,
1L, Capillary waves in channel. IV. Water-hammer problems

Choose the incorrect one(s) :
(A) LIL I only (B) II only (C) IV only

aTse 1 e foe feufert e a2 - .
L o S Y SHfRrpra fa FmI\II. Y 3fisl & fore Sl < ST amg

(D) All of these

IIL. A FReh qat IV. Sd-Hra a9e
YA T TI7 HIT ;
(A) $9@LILII (B) %@l - (C) %IV (D) I&f

Find the energy thickness for velocity distribution in the boundary layer
given by uw/U = y2/82, where u is the velocity at a distance y from the plate

and u = U at y = § where 0 = boundary layer thickness. ,
W/U = y2/52 & e e v 3 3 o % forg ot sherd A IR, TR u,
TRy RITaAANy =8 Ru=UR | Iaf § =M a A3 2 |

(4) 482%/21 (B) 382/21_ (C) 28%21 (D) 8%21

The specific energy for a 5.0 m wide rectangular channel is to be 4 Nm/N. If
the rate of flow of water through the channel is 20 m3/s, determine the

alternate depths of flow (5;;,9.81 m/s?) : i _
foreft 5.0 m =S SRR = o fore fafne et 4 NowN 8+ =ife | ofe e &
S JaiT8 % X 20 m/s 21 1 JaTg 3 Tehial Telgat 71 HIoT | (g = 9.81 m/s2) :

(A) 2.0m and/da¥g71 1.0 m (B) 3.5m and/@410.5 m
(C) 393 mand/daaT0.48 m (D) 2.93 m and/d¥1 0.4 m

A jet of water of diameter 2.0 cm strikes a curved plate at its centre with a

vel'ocity of 10 m/s. The curved plate is moving with a velocity of 5 m/s in
the direction of jet. The jet is deflected through an angle of 120°. Assume -
the plate smooth; the efficiency of jet will be :

T 2.0 cm ST i 6T R T 95 @2 & g T 10 m/s & 37 J THA! 8 | I5F
e 5 m/s % I & el G <hl e & wfew R | et TR 120° < o1 § e &

HATel & | I Y T went el 9T <t e gt
(A) 37.5% (B) 475% . (C) 60.5% (D) 25.5%

An. inward flow reaction turbine has external diameter and internal
diameters as 1 m and 0.5 m respectively. The velocity of flow through the
runner is constant and is equal to 1.5 m/s. What will be the width of the
turbine at the outlet if the width of the turbine at inlet is 200 mm ?

et araate WaTE yfafshar <XaTe 1 ST&l QYT 37dieh oTd FAW: 1 m ol
0.5m & | T & YaTg 7 9 FRRX & 94T I 1.5 my/s & | IfE T §R W XaTeH i

(C) 350 mm

i, s i, S

(A) 100 mm (B) 200 mm
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A turbine is to operate under a head of 25 m at 200 r.p.m. The discharge is
9 cumecs. If the overall efficiency is 90%, what will be the specific speed of

 the turbine ?

(Take g = 10 1_11/s2 and density of water = 1000 kg/m?) :
& z@TEd B 25 m F 3 F arefm 200r,p,m,@r.waﬁ_"c‘1?rg"m% | feemmt
9cumecs%mﬁ%am%%-ewhma&%ﬁmamw@ﬁ?- .

(g = 10 my/s? TIT ST 1 S = 1000 kg/m? fAfre) :

(A) 160rpm. (B) 150rpm.. (C) 200 rpm. = (D) 220r.p.m.

Blue baby dis_eaée'in _c':hi_ldren‘ is primarily due to : e a3
(A) Excess nitrites in water (B) . Excess nitrates in water
(C) Free ammonia in water (D) All of these. ; By
(A) Tt f TegEE SR (B) ot ATgegd AR

y 3 8
et e

O Fedmmat ) AW

————

. During delivery stroke of a reciprocating pu_ffi

o (B_)-:‘:'...Potass

s A Turmeric on filter paper
" (D) Silica gel coate

N AL CALLL Lo S

. the sgpﬁr'z_ition ‘ may take

place :

" (A) At the end of delivery stroke  (B). At the beginning of delivery stroke

(C) ‘In the"middlé of-delivery sﬁoke _(D) None of these_’ M E%g' #
i 7 3 feferd A B A A A ERa s
&) Rt smssmd @) Remdvm R

, ;Ereét_h—.testﬁ used by traffic pohce tO checkdruﬂken dnvmg uses
(A) Potassium dichromatic-sulphuric acid ~ "L T T
; ium pennanganate-sulphuri_c acid |

d with silvefnifraie_ & A
g T 1 T 0 A T R A R
(D) ey St R S

e gferd &
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95, '
atch ' the code givey 98-
-btﬂo LIS}:I and Llst IT and select the cor!fect a“s“’er using the > . RE *

ist-1 - ¢
e = § € well 1. Wi d ower (Mill) |
C haﬁoc:‘, tube 2. Sul?mgmble ump 4k
% She HO»S%I;:I’IE& - 2 Eersiepfl whlee ; - 2 iR
- e . Centrifugal pum _ K
qﬁ—llﬁmﬁmwaﬁmwwﬁmﬂﬁi&ﬁﬁm-
LA M W- @II (o A |
G T 2. AIMEA-&H I
- R ity .
podm : T 4. 3 g7 _ ;-.99
(A) 3 . 4 E ' ?
W0 2% 1 a4l 73
.(D) 2 =4 ' W

t a net head of 10 0 m and a design

d back to an angle of 30° with
50.0 mm, -
90%1

96. A centrifugal pu »
speed of SgOO 11? l-[11111) di?hlzvir;n‘;ageacgﬁa;ﬂg
&{;n phery. The impeller diameter is 200 mm and outlet width is 5
hat will be the velomty of whirl at outlet if manometric efficiency is
(Assume g=10m/s2) =~

W T T 10.0 m F Tg M W qer 800 r.p.m. h e = §
-s‘:laﬁrf%am%léqqﬂ’@ |1 30° HT HIV) ST g D hit AT Alha 8 1
FHOI ST 200 mm 7T ferE e 50.0 mm R lﬁmmtﬁatmr%rrww '

wﬁﬁa‘lﬁ%awwm’m (g = 10 m/s2 TH ) . |
(A) 10 33m/s - (B) 1333m/s  (C) 5.33m/s (D) 20.0 m/s

. 9‘7 With rcference to ‘Eco-Sensitive Zones’, which of the following statements \ -'

~ is/are correct ?
I-, -Eco-Sensitive Zones are the areas that are declared under the Wlldhfe

(Protectlon) Agtthl 972.
e purpose of the declaration of Eco-Se |
kmds of human activities, in those zoneseg:(l:té;te achr)E:euSltllirto pmhlblt all
Slgeclt thfl: correct a(nBs;veiIusmlg the code given below : i \
( on only (C) BothIand
( Hgﬁéﬁ%ﬂﬁﬁﬁﬁqﬁﬁﬂﬁ?m/ﬁw%n/ém Neltherlnorll

‘e
L Wﬂaﬁﬁ'ﬂ'aaﬁaﬁ mm)aﬁﬁmwn%:ﬂ-ﬁa

C ode > No. : c-601/2019ISer1es-A W et
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9. A canal regulator helps in :

Eg; }Ir:zlr':zs_fng supply in the parent channel downstream.
e S.lng supply in the off-taking channel.

(C) Increasing water depth in the parent canal downstream.
(D) Both (B) and (C) P e _

s *‘ﬂﬁ%a"ﬁ"‘*% =

“(A) - S e e e < R 3 sl e |

(B) AT ek =it # >mafet srem |

(C) S Sel W YR ! feun # oot ht mewg weE |
(D) (B)@1(C) 3 | '

9. For a pa.rticular' project, eight activities are to be carried out. Their
relationships with other activities and expected durations are mentioned in
the table below : Ay '

Activi - Predecessors  Durations (days)
B - 3
b a 4 '
d a - 4 . mgE
e b 2  al E%@
£ d 9 e,
g c,e 6
h f,g -

The critical path for the project is | ' '. '
mmm%mmmﬁmmﬁlmmmﬁ
wdﬁawwﬁamﬁﬁwmﬁamr@%: 5 g B~
\ETIE Tkl Qi sate (RAd) *

a - 3
b a 4 k.
C a b ;; 9 =
e D 2
“f di:’ 9
g c, € 6
RS _ £.p | ) e _ _
i i e d-f-h (D) é—b-c-f h
(A) a-b-e-g-h (B) a-c-g-h © a_;“_ oy ; | -
Y Nl A RO L No. : C-601/2019/Series-A,
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100. Tw : h | me production rate are available for use. On

mag}ﬂg?f?g: %x%fj éoﬁt iga? 100 and the variable cost is ¥ 2 per piece produced.
The corresponding numbers for the machine-2 are I 200 and ¥ 3 respectively.
For certain strategic reasons both the machines are to be used concurrently. The
sales price of the first 800 units is I 3.50 per unit and subsequently it is only
% 3.00. The breakeven production rate for each machine is :
2 T IeaTe oF 3 A ST % T Iueey € | -1 T T Sere B
ST 2 100 Fu wREd= @ 2 8 | WiH-2 % forg 3 weand shas; € 200 9
238 | o AR RN HIT 4 QT AT ol ST T F § R ST
2 | worg 800 Fepre o T e X 3.50 Wfel gehTE AT wrEET I8 e < 3.00
SR TS 2 | T WY & T - fereae g gt e |

(A) 75 (B) 100 (€ 150 (D) 600
101. Which of the following component does not have any effect on the sediment
9
| EeAI;loiaelngth (B) Breadth  (C) Depth (D) All of these

mmﬁﬁﬁmﬁﬁﬁamw@émqﬁﬁm%?
A) war§ - (B) TR (C) TEW D) F=h

% emical Smog is a resultant of the reaction among @
L Eg?tcl)\?lc-l)ef&aand pe%'oxyacetyl nitrate in the presence o% sunlight.

(B) High concentration of NO,, O3 and CO in the evening. -
(C) CO, O, and peroxyacetyl nitrate in the presence of sunlight.
(D) CO, CO, and NO, at low temperature.
TSI -THT e H-Hieq = MHTIROHE d
(A) NO,, %Wma@ﬁ@ﬂa?m@ﬁgf.%mﬁs@ﬁ
(B) NO,, O; @1 CO 1 I = THI I HigWl
(C) CO, O, Fer e THieTset Aeee h GEHRT i Jufedfa

(D) CO, CO, T NO, A= amsFA = 3y

103. An automobile engine operates at a fuel air ratio-of 0.05, volumetric
~ efficiency of 90% and indicated thermal efficiency of 30%. Given that thse
calorific value of the fuel is 45 MJ/kg and the density of air at intake is 1 kg/m’,

~ the indicated mean effective pressure for the engine 1s

T ATEHIETEA 3 3YA- Td 0.05, THTCH (JTaH) T 90%
TR I SE 30%11:':&:%3% | g e e & o S <61 Shefidl AH 45 MUK
T I T T TRV Farvg R 1 kg/m?3 & | SR o1 wgfera e W € @
(A) 0.6075bar (B) 60.75bar (C) 607.5bar (D) 6.075bar

104. For the same values of peak pressure, peak temperature and heat rejection,
the correct order of efficiencies for Otto, Dual and Diesel cycles is

wsﬁﬁma,qﬂﬁ.amﬂwma%@fmmﬁ%%rqaﬁa,qgmww

=Iohi % ToTC <&taT o1 TEl 1hH B
(A) Notto > T‘Dual 2 NDiesel (B) M Diesel > MNbual = Noto
(©) Mbuai > Mpieser> Moo (D) Mpiesel> Notto > Npual i

" Code No. : C-601/2019/Series-A 28
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- 106.

P 105. Nitrogen is considered as pollutant. Pick up the correct statement.

(A) 80% nitrogen in soil is not utilized by human.

it (B) As per WHO, nitrate contaminated drinking water can cause reduced

blood function, cancer and endemic goiters.
(C) Surplus of it leads to soil acidification.
e A |
T ST HI1 71 8 | WEl e _ |
A) T&IH 80% LIS He G YN 7E1 <ht AT & |
5 0 n T e TERI WOt

(B) S W3 WHO)%aﬂme?Zﬁﬂ‘g?W
ﬁm,ww%mmmm e st
(C) 35! e ey o1 it seraT 2 | . B

An incompressible fluid (kinematic viscosity, 7.4 x 107 m?2/s, specific

- gravity = 0.88) is held between two parallel plates. If the top plate is moved

with a velocity of 0.5 m/s while the bottom one is held stationary, the fluid

attains a linear velocity profile in the gap of 0.5 mm between these plates;

the shear stress in Pascals on the surfaces of top plateis: =

T Iraefigy e (I M 7.4 x 107 m¥s, faRire w=ew = 0.88) H1 &

] % WA T T B | Afe Hd whe hi 0.5 m/s AT & <ot ST e e @i
R @ 9/, @@ T el F §9 0.5 mm F U W T W@ 3 NeEd

I BT HUT | ST =N Y Tq8 T (IrEhet ) 19&90 feraet B

(A) 0.651x103 (B) 0.651  (C) 651 (D) 0.651x 103

. Match List-I with List-II and select the correct answer tlsing_ the codes given

below the lists :

List-I - List-IT
P. Reciprocating Pump 1. Centrifugal pump impeller
Q. Axial Flow Pump 2. High flow rate, low pressure ratio
R. Microhydel Plant .. 3. Positive displacement
S. Backward curved vanes 4. gcla_nt with  power output b/w 100 kW
; ' 1 MW

@;m@.n%mﬁmﬁmwaﬁmmmﬁma@ﬁm:

g . -0
P. wﬁvﬁfm. 1. Wﬁq‘gw

S. waathad 4. VR ST HIE 100 kW 7 1 Mw 3 e

e s Beib 29, Code No. & C-60172019/Seriesra
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108.

Sllbjected to a maximum bending moment of :

A SImply Supported steel beam of length 8.0 m, bf

eadth 120 mm and height

0 mm is loaded uniformly 100 kN/m for the whole length. The beam is

(Assume E..; = 200 GPa)

o memﬁammﬁqﬁmMmaﬁwmmmw“mﬁ

109,

-110.

'750mm%Wmﬂ100kN/m1{ﬁawr§mmﬁa%|¥JTUTTRFF1WTW

(T Egie; = 200 GPa) - _
(A) 100kN/m (B) 400kN/m (C) 600 kN/m (D) 800 kN/m

Match the processes in Group-1 with the products in Gfroup-II
Group-1 Group-1I
P. Claus Process 1. Oxygen
. Q. Linde process 2. Sulphur-
~R. Lurgi process 3. Syngas

Rl S fpatat o1 TSIl * w@ﬁﬁ‘tﬂq

aqg-1 - qE-II
P. mm 1. FTedte
Q. feig ufsean 2. R
R. onff wfsram - 3. g
Codes/%c :
P Q R
(A) 1 .:93+n2
B): 3. 2 1
© 1 .23
I 3

Hydro-treating is used for :
(A) Removal of water from crude oil.
(B) Treatment of crude oil with water.
(C) Improving octane number of gasoline.
(D) Removal of sulphur and mtrogen from petroleum fractions.

| FA-IYGR 1 IqGNT FeRAT ST R

(A) FRITATA B GURFAH |

(B) ﬁﬁawaﬂ%mmaﬂﬁm

(C) e B R TR TG |

(D) ﬁmmﬁwwm@maﬁmmﬁl
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| Total Susper'lded Partic
~ measured using g pjop ulate matter (TSP) concentration in ambient air is 0
an initial dry wejpht volume sampler, The fil d for thi d
2> N : 1ght of 9,787 . I'he filter use qrt is purpose ha
the 1nitial air flow rage th 8. The filter was mounted in the sampler and
continued for 24 hoyr %Ough. the filter was set at 1.5 m3/min. Sampling
1.4 m3/min. The 4 S. The air flow after 24 hours was measured to be
10283 g, Assumi;:y Wweight of the filter paper after 24 hour sampling was
- what s the 24 hoy g 2 linear decline in the air flow rate during sampling,
R ﬁ%ﬁverage TSP concentration in the ambient air ?
_ il UGt (TSP) %1 yRasf arg # Tigo 1 A I A
0787 ¢ lwi"' Eﬁm ST R | 9 3 YOG O B1_AXREH T TN
fies 3%- | BT Sl AP T TR R T Bk | TR a1g T8 &
.5 m3/min T ¥ fRpar 1 | et 24 92 9 S G TE | 24 ¥ H T
ST ST BT TG 1.4 m3/min o7 7 | 24 6 1 FPfei < =g o= 0
I TR 10,283 g o1 | Bwafei G o1 JATE o O el fREe A
TRt STy & 24 5 %1 3fted TSP wiger ¥ A 7
C(A) 592pg/m3 (B) 237.5pgm® (C) 337.5ug/m’ (D) 540.05 wg/m3

112. A sand layer found at sea floor under 20 m water depth is characterized with
relative “density = 40%, maximum void ratio = 1.0, minimum void

ratio = 0.5 and specific gravity of soil solids = 2.67. Assume the specific -

_ gravity of sea water to be 1.03 and the unit weight of fresh water to be
'9.81 kN/m3. What would be the change in the effective stress (rounded off
to the nearest integer value of kPa) at 30-m depth into the sand layer if the
sea water level permanently rises by 2 m? " _ '
(A) 10kPa (B) OkPa ~ (C) 20kPa (D) None of these
T T A W 20 m TE 9 F wfiet TR 7 Xa Y WA 6 ERar 40%
Ffiad e TRl A | srfreRew R srgaT = 1.0, 3Teqan e @ = 0.5

. o 3 e 1 Tt we =267 ® | I et 1 faRE e 1.03 7 O
e <1 STE 9T 9.81 kIN/m? FTeR IfE T3 Tt 1 T Tl T H 2 m §G MG
< g &1 T A 30 m TETE T IR FfEe (kPa % THiTey qUrieh W e O
3 §U) # TR 1 ? B |

() 10kPa ~ (B) 0kPa - () 201(95. (D) THARETE

113. Gross ﬂangle' area for a rivetted plate girder is to be designed consideri
| area as 80 % of its gross area. Consider width of the ﬂangge as 5001r§rr;nwgmr}tlaé

web plate as 1000 mm x 12 mm. The girder is to resist a : )
 moment of 4500 kN-m. Maximum allowable bendin maximum bending

: %MP& .(?%z%;é{m%;g%ea - . | g stress in tension is

R faes Hehet FeAS! BEhET S AT,

b dorww @ 80% 9 ET RN 9 R | v R < 500 mﬂfﬁ%ﬁ mﬁﬁqﬁ
" @z 1000 mm x 12 mm & | T F GRI kw5t S0 4500 kN-m SRR

HTT 2 | 7T B AT A A WA 150 MPa R | ool Wi SThE B

(A) 70000 mm? (B) 60000 mm? (C) 72000 mm? (D) 75000 mm? .

31

%
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114, Ty, :
[ ] ‘ e [
= elastic modulys and Poisson’s ratio of the clay layer are respegtively

50 3

inﬂ:; 10° m/s and 0.4 and pressure on the footing is 50 kN/m*Jf the
7 uence faitctor for the strip footing is 2.0, the elastic settlement for the
tooting having width 2.0 m will be

1 HEThT Jereera T T i AT e 50 x 103 m/s T 0.4/

ST HTET T g 50 kN/m2 2 | 3 fRm o 3 v sl e () 2,02,
2.0 m =gré R pfén & R searee dewite gm i
(A) 672mm (B) 672mm  (C) 0336mm (D) 3.36 mm

115. A standard oedometer test in the laboratory indicated that a 0.02 m thick
clay specimen took 1.0 day to undergo 90% consolidation. How many days
a 2.0 m thick identical clay sample sandwiched between sand layers and

- subjected to an identical stress increment take to undergo the same ?

(A) 500days (B) 5000days (C) 1000days (D) 10000 days
TRTITE # U A $SIHIC TEw ¥ ggiia g 6 T 0.02 m HIE T H
AT T 90% SrEHT H 1.0 fe7 & | fopaw R & @ 2.0 m W F9ET @
() 1 AT 1 <l Al o 19 A Heele ) st qor gwey yfiee Seladl &y
A R 36 Wi H gt ot 2
(A) 500f& (B) 5000f&® (C) 1000f® (D) 10000 &

116. Leachate is a coloured liquid that comes out of

(A) Compost .. (B) Aerated lagoon
- (C) Septic tanks _ (D) Sanitary landfills
Tirere Tk T ga 8 St fop e freperan 8 -

(A) FHRE  (B) F@ATH (C) w35 3 (D) Al -

117. A circular segmental three-hinged arch of span 28 m and a rise of 4 m
hinged at the crown and springing. It carries a horizontal load of 100 N/m
covering full height of the arch on right side. The horizontal thrust on the

left springing will be
T AR @E i e el Hgt 1 R 28 m TR 4 m T I8W S A
o faif w g & | 98 T 100 N/m %1 &S W 989 St @ I e &
QI T G S Y T T @ | o R o e o g
(A) 100N/m (B) 700N/m  (C) 400N/m (D) 200 N/m

118. What will be th-e value of load factor for a rectangular mild steel cross- |
section if factor of safety is 1.5 ? |

%@ﬁmmqg;aamﬁw%mmmwmwﬁmﬂ&wm 15%8?
(A) 1.5 (B) 2.15 (C) 2.25 (D) 3.0

Code No. : C-601/2019/Series-A 32
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n Assertion (A): A e Critical

State of fl e , 0.
or i : ow,
Reason (R) : X the given discharge, - the specific force is a minmum

Or a minj
of force :;Itﬁum value of specific force, the first derivative
Correct code is : Iespect to depth should be unity.
(B) Both (A) and (R) are true and (R) is correct explanation of (A).

R : )
(C) (A)is true an(& (%?ri:fgl]:;md (R) is not correct explanation of (A).

D) Both are false.
(A): mw%mmmmmnawaamﬁmw

' ; ATIAH 7 | ;
S (R): =_mﬁﬁ§w%mﬂqm%m,wmmwm
et % Eny H T8 g e | -

(A) (A)7N (R) IR o F o (R), (A) B w@ =@

(B) (A)aen (R) i wdh & oo (R), (A) R w@r e T2 |
(©) (A) TS ERGR) TR | . - - %
- (D) QTR . sl e

120.. The stages of zone of pollution in the river stream from upstrea to downstream are :
|~ 7 " (A) Zone of active decomposition, zone of degradation, zone of clearer
water, zone of recovery. | Xot i call
(B) Zone of degradation, zone: of active decomposition, zone of recovery,
zone of clearer water. . s
(C) Zone of clearer water, Zone of active decomposition, zone of
| degradation, zone of clearer water, zone of recovery.
(D) None of these ' 437 S
78 &t o & T % foradie 8 T o B e f e & <Y SR §
(A) @i T %1 3, SO 1 S, T et b1 i, el b S
(B) mﬂm@q,ﬂmﬁnmﬂsﬁq,ﬁﬁﬁmw,wmmsm
(C) @S 5 I &, T ROTer 1 S, ST 1 S, Te0 ST 1 I,
fpadl 1 S _ | _ |

121. The epithet ‘Lady keylorig’ is related to which of the folldwing in HP.?

A) Folk dance (B) Water spring (C) Mountain peak :
REL I Bkt Dl S e Y S

(A) %TE  (B) TRFFTA (C) Wadd (D) ﬁﬁﬁﬁé?&"f

b o122 \Xl’)liCJh ass joins ozléeir aﬁd inner Seraj in H.P. ?

. alori pass_ h in ' : \
% oS & i 0 f.ta;%pa‘ss ©) Kun;;:m pass%(l‘;) .Chqu pass

(A) SEied  (B) Ugamed - (C) H9Med (D) =fwned

33 ~Code No, : C-601/2019/Series-A
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123,

1,

_ “‘UhD is tnbutary of which of the following rivers of H.P.?:

. 22(A) Yamuna (B) Chenab (C) Satlu (D) Beas

T e R o e ) o e A 7
(A) T (B) C) wags (D) ™
The largest natural lake of H.P. is : :
(A) Govindsagar | (B) Maharana Pratap Sagar
C) Renuka (D) Rewalsar

mﬁmwy@ﬁmsﬁaﬁ
- (A) Midemmr (B) TERION dTd AR

(C) U | (D) &TerE '

125.

Famous Roench Art Gallary is situated at which of the following places of H.P. 3

- (A) Nmnand ﬂé‘ﬂ) Naggar (C) Andretta (D) Sujanpur

126.
“(A) Bilaspur (B) Shimla
-’%maau&maﬂﬂqmﬁm&rﬁk ITRIETS, Fiei a1 Het i HH W e ?

127.

%maamﬁ; o RFE M W R 2 |
(A)ﬁm-s i 2B) . B © g (D) TIAH

Which district in H.P. has 1ts borders with Sirmaur, Uttarakhand, Solan and Mandi?
(C) Kinnaur (D) None of these

(A) ﬁm&t B) fmen . (©) fR (D) T A FE T

Which dlStI'lCt in H.P. has highest populatlon densny as per census 2011 ?
(A) Kangra ~ (B) Mandi (C) -Shimla (D) None of these
SRTUET 201 1 W%ﬂmmmﬁmﬁwmmﬁﬁﬁm%?

@Wwm @ W (© fwmemn (D) AR

128.

129,

130.

Yamuna I‘IVBI' enters H. P at whlch of the followmg places ?
(A) Shilli (ggmBara Bhangal(D) ‘None of these

waa%mm ﬁq%awm
(A) Breeft (B) fﬁrqa?r HC) mﬂma (D)’ T Y HI5 @

Who said about ‘Sp1t1 that “this place is no place for men” ?

(A) Huan- T-sang (B) Fahian

%ﬂ?ﬂRu ard Kipling . (D) Noneofthese =
78 el & o6 T8 T A & oo A e A R 9

(A) a%ﬁmm B wfEE (O veuE RefimD) Eﬁﬁﬂﬁiﬂiﬁ

Who founded the Mandi town of H.P.:?

(A) DipChand . .. .. (B) GarurSen
(C) Vijay Ram Chand = (D) Ajbar Sen
2 RN T Hel e e e 2

T (A) duEe " (B): TE O (C) e (D) mﬁ:{
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' . (B) Hamj ilaspur
T et R v s oy 7" () Chai
e ® #R () fmER )
2‘ 0. f . e
1 Kaviraj’ 2 € following Personalities of H.P. was popularly known as

(A) General Zorawar Singh (B) Bhajju Mal

%C) Pt. Padam Dey :
T ¥ B § . (D) Major Mehar Dass
& fﬁﬁgm:wﬁmﬁﬁm%m%mm%?

(C) W e g mm

3. lj‘?jl-"; I?“;'ga Singh was the last ruler of which of the following princely states

A) Bushahar  (B) Baghat  (C) Dhami D) Sirmaur
%&m%ﬁm%ﬁnf’ﬂmﬁmm i nglﬁﬁgl%m?
(A) TR (B) e  (O) wEl (D) Rk

4. H.P. Forest Training Institute is located at which of the following place in

‘H.P.? _ : | -
(A) Chail Kasauli (C) Mashobra (D) Kufri

B)
mm%m%wﬁmmmzﬁnmg?
(A) = ~ (B) et (C) wisu (D) FHA

5. Himachal Pradesh State Information Commission was constituted in which year ?

farTae o1 TS =T TN 1 TS fehe ad fopa 7/ o 2
(A) 2005 (B) 2006 (C) 2007 (D) 2008

36. Who compiled the tales of ‘“The Panchatantra’ ? Dy Honé of hess
Vishnu Sharma(B)  Vishnu Gupta (C) Harisen ( _
ar fepam fopan

Taas st HATAT HI HheH a1 7 | _

A) feqwmi  (B) fopmn  (© ®W& o D) T A FE T
3. Lord Mahavira ldaiied % g (B) Sravana Belagola

Eé)) %:\1{1;1%311}11 a ' i (D). Bodh Gaya

s e b1 97 g o S (C) TR ©) T
P CLUl ©
(A) Wﬂﬁ (B) associated ?

' k Inscription” assocl
. wi m is ‘Junagarh Rock o imbisara |
mmﬁ{fﬁ‘}adamant - II (D) Gautamiputra Satg}carm
a- 9. | ‘ _ |

e © —=
_ | o, C-601/2019Series-A
C o gy B T N
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140,

141.

142.

RaJ Raj Chola (D)

W ho bml |
t Brih le at Tan]or
R Cﬁs;hwara WP (B) Rajendra Chola
None of these

ey ffifa e o ? o
(A) Fhwmdw @) wmaE (O T
The Capital of the Yadava rulers was
gl% Devagiri  (B) Kalyani ©) Wwarangal
| I E—— |
(A) - (B) Heamoft - (© A (D) FLE L

Whlch th d capital of Akbar ? |
was the second cap e Sikzi (D) Patna

(A) Delhi (B) Agra (O)

S gl T B e 7
(A) feeett (B) A (©) wIERHHT (D) T
“Who built Hawa Mahal? = Mot P |
(A) Jai Singh pdal (B) Swai Pratap Singh
(C) Man Singh Ltz (D) None of-these
wmmmm

143,

144.

145.

146.

(A) e (B) aﬂlﬁmﬁﬁ ) wAkig (D) sqﬁﬁaﬁ‘éqﬁ

Who among the followmg- v181tecl Gandh1j1 in South Africa ? :
(A) B.G. Tilak ‘(B) Vallabhbhai Patel .. ~

(C) G.K.Gokhale (D) J.L. Nehru
freg 1§ Fopar cfyor arshiee # iefiSht A He HT A 7 :
A) #A. oo (B) FeeTHTE T (C) .. T (D) ﬁrqa /E

The Arya Samaj in 1875 was established at wh1ch of the followmg places !
(A) Lahore (B) ‘Bomba é:g (C) Nagpur - KD Pune
1875

(A) TR (B) ar:% (C) ?mat - D™

Indian Constitution is

(A) Unitary N (B) Quasi Federal (C) Federal (D) Presidential

(A) THIHETE (B) :-.rw'errnm (C) THTH® (D) sreefa

xl)lat Cls the basis of recognition of minorities in Indian Constitution ?
aste - (B) ' Colour (C) Religion D) None of thes
W "o i | ) AT T SR FATR ? N

) T A IS TG

(D) Dwarssamuds, |

-

i

@k @ W (© ©) FEARE
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1. What is the pe: ' '
€ retirement age of the Prime Minister of India ?

RS e f S B 70 G O
R 5 ST 151 5 e (O S0years (D) Nolimi

,'(A).Gsa& - (B) ‘70 (C) 80 (D) 1§ dmn &l

#8-%In 'which vear,
’ ; Jeir, I:Iouse of People” was named as Lok Sabha ?
TN “FTHE T TG ST TH &I T9T a1 74T 9

(A) 1950  (B) 1954 (C) 1962 (D) 1978
49. Eguinox Occurs when the sun is vertically above
(A) Tropic of Cancer (B) Tropic of Capricorn
~ (©) Poles _ | (D) Equator |
T -y 7 e & o c

(A) $H@SH  (B) "TRE* (C) y&@iH (D) e @

50. Which t_)iome is known as “Bread basket of the World” ?
(A) Taiga | (B) Mediterranean

(C) Tropical Savanna (D) Mid Latitude Grassland
I |1 S1EW fva H1 5 STahe 81 1 8 2 2
(A) &m . (B) AT @
(C) TIMISWEEY (D) HeH I T 1 AgH

1. Which of the following is a tropical ocean current ?
g.g' Canary '(B) Labrador  (C) Gulf Stream
e A A O S HREH aE v ? R
A) T O (B) WER - (C) WHEEW (D) FHABRTE

12. West Bengal shares boundaries with how many countries ?

(D) None of these

(A) One (B) Two (C) - Three (D) Four
fers STTet foaet 33T o | ST Y WS HT1 R 2 '
(A) T ®) T € (D) =R

3. Which of the following mountain ranges is located in India ?
(C) Arakan Yoma (D) None of these

A) Sulaiman (B) Saltrange
) S e o R .

(A) goaH B) FRE  (C) WHIAM (D) T AR T
4. Monetary policy in India js formulated by ‘ i

(A) Finance Ministry = (B) IS\S'?I

(C) RBI (D) I Aayog

mﬁﬁ&aﬁﬁrﬁuﬁﬁﬁaﬁﬁ% e

(A) ford waTed g1 (B) ¥ (SEBDEM

() .. T (D) NITISTRFER ‘
ke % '""'“‘fff“""':?? Code No. : C-601/2019/Serigey,
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- 156.
- (A) 90 days (B) 120days  (C) 150days (D) 180 days

: _Which is an example of Progressive tax ?
(A) Octroi (B) Exciseduty (C) Hou

W st ot g & 2 '

se Tax (D) Income Tax

(A) it s (B) e Yoob (C) HHM (D). 2

The life span of RBC of man is

JRY # RBC 1 Sfier el B 8
&) k" @ lofm  (© 150fm (D) 180FHA

157. Ball pen functions on the principle of :
(A) Viscosity | (B) Boyle’slaw
(C) Gravitational force = (D) Surface tension
. aTer U fop g R e el B 7 PO hs
(A) W= St s (B) i <1 |
(C) TeomimEd .. (D) BT
158; Which of the following cannot be beaten into sheets ? " o
(A) Gold (B) Silver =~ (C) Potassiumi (D) Aluminium
iR TR SRt '
A @t B) W@ - (C) dieRmm (D) TegmtEm
159, Jaundice is a symptom of disease of
(A) Kidney (B) Live; (C) Pancreas (D) Thyroid
diferan ot ferersh O ot o & 2 -

WTF B W (O FEWA (D) uEEe

160. Lemon is sour due to . .
 (A) Aceticacid 7 (BYAscorbic acid ™
(C) Tartaricacid ~ -~ (D) Citric acid
.ﬁ%@ﬁwm% T B
(A) THfifes an ' (B) Uehifeleh aveet
(C) Trefe am (D) fRwemm
Code No. : C-601/3019/Series-A 38 Ke =
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%161‘:‘:"I(zf:ta'lto + Carrot :ilRadish : 9
. ' 0

#@" (A) TR .(B) T ) o= (#@m) (D) Hrweh

|
S 162. If BAG = 71, then VICE = ?
f BAG =71, @ VICE = 9
| (A) 64 (B) 67 €) 69 (D) 72

= 163 The world’s tallest 131 ft. indoor waterfall has recently opened in which of

21:) ffilf_lo,wing countries ? | .
ietnam (B) Singapore (C) Indonesia (D) Malaysia

%mm%wlsmmmmmm@ﬁﬂn o fopm o  weui
| TR 7 - |

| J A fawm  (B) Rimp ©) werRm (D) "efEn

|164. Which of the following cities has been recently declared the 2019 World
- Book Capital (WBC) ? S

(A NewYork (B) Sharjah’  (C) Kolkata = _ (D) Berlin

o e o et ot ren @ fores eren Trru (WBC) 2019 it o & 2

1 (A) =@ (B) WRWE (C) Hieh@r (D) ®fel -

(165 Domot____—other'sprivacy? - .
(A) invading (B) invaded, ; =(C) invade (D) invasions

e,

++|166. Meaning of the idiom ‘End in 'S'_ihé_l_ce’ is -

(A) Catch fire - (B) Come to nothing -
(C) become smoky © (D) fruitful % ——

- 1167. Antonym of ‘Deleterious’ is -
| (A) delaying (B) beneficial_ © destmctiye (D) glorious

168. Jgwg
W @ P © TR O g

:,*'..;169. ‘Gﬁ]ﬂ?ﬁ’ﬁm% ol B ) ;
(A) Ty B) ¥& - (O T (D) Irrefinry

| W Ty @) W+T (€ T+IW - (D) Y+am

poae el

11 Code Noi: C-60: e ——
| L i *3. N 0 |

ey ~r . . J 39
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